Daily Calculations Day 1

Gy | Geem |  Gold
270 + 358 = 650 + 366 = 2075 + 5088 =

962 —-372 = 893 -117 = /573 — 5561 =
35+5= 81+9= 144 =12 =

6x5= 4x4x3= 6x10x4-=

%2 of 400 = 72 of 500 = 2 0f 80,000 =



Daily Calculations Day 1

__Gey | Gen | Gd
270 +358 =628 650+366=1,016 20/5+5088=7,163

962-372=590 893-117 =776 7573-5561=2,012
35+-5=7 81+-9=9 144 =12 =12
6x5= 30 4x4x3=48 6x10x4 =240

> of 400 = 200 %, of 500 = 250 % 0f 80,000 = 20,000



Daily Calculations Day 2

Gy | Geem |  Gold
371 + 354 = 607 + 506 = 303 + 3030 =

522 —-342 = 692 — 615 = 6573 — 5603 =

16 +4 = 49 + 7 = 121 +11=11
2XxX8= 3x3x3= 5x5x5=

¥ of 48 = ¥ of 56 = % 0f 44 =



Daily Calculations Day 2

_ Gey | Geen | Gd
371+354 =725 607 +506=1,113 303 +3030=3,333

522 -342 =180 692 -615 =77 6573 — 5603 =970
16+4=4 49 +7=7 121 +11 =11
2x8=16 3x3x3=27 5x5x5=125

¥, of 48 = 24 %, of 56 =28 % 0f44 =11



Daily Calculations Day 3

Gy | Geem |  Gold
550 + 354 = 880 + 506 = 660 + 4505 =

722 —540 = 752 —-615 = 9571 —-8601 =

32 +4-= 56+5= 40 + 8 =

3x11-= 3x5x3= 6x10x6=

72 of 66 = %2 0f 70 = 2 Of 88 =



Daily Calculations Day 3

_ Gey | Green | Gold

550 + 354 =904
722 —-540 =182
32+-4=8
3x11=33

%, of 66 = 33

880 + 506 =1,386 660 +4505=5,165
/52 -615 =137 9571-8601=970
56+5=11 40+-8=5
3x5x3=45 6x10x 6 =360

¥, 0f 70 =35 % 0f 88 = 22



Daily Calculations Day 4

. Gey | Gee | Gold
605 + 1450 = 950 + 1140 = 8600 + 4515 =

615 —540 = 2580 —-615 = 9544 - 8633 =

40 + 4 = 24 =12 = 88 + 8 =

9x10= 5x12x5= 12x2x10=

%2 of 100 = 72 of 500 = 72 Of 100 =



Daily Calculations Day 4

Gy | Green | Gold

605 + 1450 = 2,055
615—-540=75
40+4=10
9x10=90

%2 of 100 =50

950 + 1140 =2,090 8600 + 4515 =13,115
2580 —-615 =1,965 9544 - 8633 =911
24 +12 =2 88 +-8=11
5x12x5=300 12 x2x 10 =240

% of 500 =250 % 0f 100 = 25



Daily Calculations Day 5

Gy | Geem |  Gold
150 + 1650 = 990 + 5140 = 6090 + 4515 =

715 —=550 = 2680 —-601 = 5541 - 1639 =

100+ 10 = 42 +7 = 84 +12 =

5x12= 5x11x2= 11 x4x2-=

72 of 110 = %2 0f 700 = va Of 200 =



Daily Calculations Day 5

Gy | Geen | Gd
150 + 1650 =1,800 990 + 5140 =6,130 6090 + 4515 =10,605

715—-550 =165
100 +10=10
5x12=60

¥, 0f 110 =55

2680 —-601=2,079 5541 -1639 =3,902
412 +7=6 84 12 =7
5x11x2=110 11 x4x2=88

¥, of 700 =350 v 0f 200 =50



